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English Questions for CLAT Exam 

CLAT English Quiz 13 

Directions: Given below are some statements with their first part given. The other parts 
are scrambled and arranged. You need to rearrange them in a logical and coherent 
manner and choose the option which depicts the correct arrangement. If there is no 
need for re-arrangement, please select option D. 

1. Assets and the proposed FRDI Bill, 2017 to pre-empt any banking or (A) / the 

finance ministry claims that the Insolvency and Bankruptcy Code (B) / financial 

institution failures will help resolve the bad loans problem (C) / enacted in May 2016 

to expedite the recovery of stressed (D). 

A. CBAD    B. BDAC 

C. DBAC    D. No rearrangement required  

2. Of the judiciary, and for India’s constitutional system of governance(A) / senior-

most judges of unquestionable integrity, for the institution (B) / the press conference 

organized by the four senior-most judges of the (C) / Supreme Court presents, in many 

ways, a breaking point for the four (D). 

A. CDBA    B. BADC 

C. ADCB    D. No rearrangement required 

3. Today, tough questions are viewed (A) / not just as hostile and (B) / unnecessary, 
but also as disloyal (C) /and even anti-national (D). 

A. CBDA    B. DBCA 

C. ACBD    D. No rearrangement required  

4. And investment treaties pertaining to crucial resources like (A)/ increasingly 
essential, such as telecommunications (B)/ a lot of arbitration today is centred on 
trade agreements (C)/ oil, gas, energy, and water as well as services that are (D) 

A. DABC    B. CBAD 

C. CADB    D. No rearrangement required  

5. of higher education because in addition to large-scale (A)/ state universities remain 

central in the entire structure (B)/ on-campus enrolment they grant affiliation and 

thereby administer (C)/ and control a large network of colleges in their respective 

jurisdictions.(D) 



 

 

A. BCDA    B. BACD 

C. ADCB    D. No rearrangement required 

6. For the government at the Centre gearing (A) / the pressure to check fuel prices is 

intensifying (B) / up for several Assembly elections this (C) / year followed by the 

general election in 2019, (D) 

A. ACDB    B. ABDC 

C. DBCA    D. No rearrangement required  

7. Companies viable since most of the foreign acquisitions by Indian companies (A)/ 

the world are calculated on the basis of net present value and probable reserves. (B) 

are done through loans taken abroad, and valuation of the oil assets all over (C)/ the 

rise in oil prices makes takeovers of oil blocks by Indian oil and natural gas (D)/ 

A. DCBA    B. DACB 

C. ADCB    D. No rearrangement required  

8. opted for a hike in key interest rates by 25 basis points (A) / at the end of an 

unusually long three-day meeting, (B) / which is the first such increase in four and a 

half years (C) / the Monetary Policy Committee of the Reserve Bank of India (D) 

A. CBDA    B. BACD 

C. BDAC    D. No rearrangement required 

9. the dignity of the government lies in its moral (A)/ capacity to perceive and 

confront the lived truth, (B)/ such as the widespread despair, frustration, and (C)/ 

irreparable loss of dignity leading to farmers’ suicides (D)/ 

A. BCAD    B. CDBA 

C. ADCB    D. No rearrangement required 

10. Walter Benjamin offers a critique of violence that (A)/ in his 1921 essay, the 

“Critique of Violence,” (B)/ pervades European democracies that are built (C)/ on the 

conception of positive, historical legal systems (D)/ 

A. BDAC    B. ACBD 

C. BACD    D. No rearrangement required 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

B A D C B A B C D C 

 
 

Explanations: 

 

1.   The only viable starter statement is B as the rest are in continuation and thus not 
suitable. 

 
Connectors: 
B and D: D elaborates on the Insolvency and Bankruptcy Code mentioned in B- 
B: The finance ministry claims that the Insolvency and Bankruptcy Code 
D: enacted in May 2016 to expedite the recovery of stressed 

 
D and A: The word stressed in D matches only with assets in A- 
D: enacted in May 2016 to expedite the recovery of stressed 
A: assets and the proposed FRDI Bill, 2017 to pre-empt any banking or 
 
A and C: 
A: assets and the proposed FRDI Bill, 2017 to pre-empt any banking or 
C: financial institution failures will help resolve the bad loans problem 
 
Correct statement: The finance ministry claims that the Insolvency and 
Bankruptcy Code enacted in May 2016 to expedite the recovery of stressed 
assets and the proposed Financial Resolution and Deposit Insurance (FRDI) Bill, 
2017 to pre-empt any banking or financial institution failures will help resolve 
the bad loans problem. 
 
The sequence is B-D-A-C. 
 
Hence, option B is correct. 

 
 
2.   Statements B, C and D are choices for the starting statement. However, 

either B or D as the starting sentence does not enable us to make a meaningful 
and coherent statement. Only with C can we move forward. Hence, Statement C 
is the ideal choice- 
Connectors: 
C and D: D elaborates on the judges- 
C: The press conference organized by the four senior-most judges of the 



 

 

D: Supreme Court presents, in many ways, a breaking point for the four 
 
D and B: 
D: Supreme Court presents, in many ways, a breaking point for the four 
B: senior-most judges of unquestionable integrity, for the institution 
 
B and A: 
B: senior-most judges of unquestionable integrity, for the institution 
A: of the judiciary, and for India’s constitutional system of governance 
 
Correct statement: The press conference organized by the four senior-most 
judges of the Supreme Court presents, in many ways, a breaking point for the 
four senior-most judges of unquestionable integrity, for the institution of the 
judiciary, and for India’s constitutional system of governance. 
 
The sequence is C-D-B-A. 
 
Hence, option A is correct. 

3.  The statement is correct in its original form and does not need to be rearraged. 
 
Hence, option D is correct. 

 
 
4.  Connectors: 

The only valid first fragment is fragment C: 
 
C and A: 
C: A lot of arbitration today is centred on trade agreements 
A: and investment treaties pertaining to crucial resources like 
 
A and D: 
A: and investment treaties pertaining to crucial resources like 
D: oil, gas, energy, and water as well as services that are 
 
D and B: 
D: oil, gas, energy, and water as well as services that are 
B: increasingly essential, such as telecommunications. 
 
The correct sequence is C-A-D-B. 
 
Hence, option C is correct. 

 
 



 

 

5. The only viable beginning fragment is B as the rest are clearly continuation of 
other fragments. 
 
Connectors: 
 
B and A: 
B: State universities remain central in the entire structure 
A: of higher education because in addition to large-scale 
 
A and C: 
A: of higher education because in addition to large-scale 
C: on-campus enrolment they grant affiliation and thereby administer 
 
C and D: 
C: on-campus enrolment they grant affiliation and thereby administer 
D: and control a large network of colleges in their respective jurisdictions. 
 
The correct sequence is B-A-C-D. 
 
Hence, option B is correct. 

 
 
6.   The only fragment that fits in as the first fragment is A. 

 
Connectors: 
A and C: 
A: For the government at the Centre gearing 
C: up for several Assembly elections this 
 
C and D: 
C: up for several Assembly elections this 
D: year followed by the general election in 2019, 
 
 
D and B: 
D: year followed by the general election in 2019, 
B: the pressure to check fuel prices is intensifying 
 
The correct sequence is A-C-D-B. 
 
Hence, option A is correct 

 
 



 

 

7.   Only D fits in as the first fragment as the rest are continuation of other 
fragments. 
 
Connectors: 
 
D and A: 
D: The rise in oil prices makes takeovers of oil blocks by Indian oil and natural 
gas 
A: companies viable since most of the foreign acquisitions by Indian companies 
 
A and C: 
A: companies viable since most of the foreign acquisitions by Indian companies 
C: are done through loans taken abroad, and valuation of the oil assets all over 
 
C and B: 
C: are done through loans taken abroad, and valuation of the oil assets all over 
B: the world are calculated on the basis of net present value and probable 
reserves. 
 
The correct sequence is D-A-C-B. 
 
Hence, option B is correct. 

 
 
8.  The first fragment would be either B or D. However, B is a better fit as if D is kept 

as the first fragment, B would not fit elsewhere. 
 
B and D: 
B: At the end of an unusually long three-day meeting, 
D: the Monetary Policy Committee of the RBI 
 
D and A: 
D: the Monetary Policy Committee of the RBI 
A: opted for a hike in key interest rates by 25 basis points 
 
A and C: 
A: opted for a hike in key interest rates by 25 basis points 
C: which is the first such increase in four and a half years 
 
The correct sequence is B-D-A-C. 
 
Hence, option C is correct. 

 

 



 

 

9.  The original sequence is correct and there is no need to rearrange it. 
 
Hence, option D is correct. 

 

 

10.  The first fragment is either A or B. On closer inspection, B is the better fit as we 
need to introduce the title of the essay first before talking about it. 
 
Connectors: 
 
B and A: 
B: In his 1921 essay, the “Critique of Violence,” 
A: Walter Benjamin offers a critique of violence that 
A and C: 
A: Walter Benjamin offers a critique of violence that 
C: pervades European democracies that are built 
 
 
C and D: 
C: pervades European democracies that are built 
D: on the conception of positive, historical legal systems 
The correct sequence is B-A-C-D. 
  
Hence, option C is correct. 

 

 

 

 

 

 

 

 

 

 

https://t.me/smartkeedaofficial


 

 

 

https://testzone.smartkeeda.com/Test/Pricing

